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Was ist die richtige Losung? (plus Zahlen bis 20)

Plusrechnen

4 19+5= 5 84+16= 6 15+20=
7 SF+3= s 13+20= 9. 84 +15=
w030+20= . 5+16= 2 3+4=
3.23+10= 4 21+3= 5 49+1=
6 45+8= 17 F9+18= 1890 +15=
19.68+15= 0 41+9= 2. 89+0=
2 82+9= 2 40+12= 2 3F+16=
5 56 +9= % 36+1= 27.32+19=
6 68+5= 9 82+1= 033+11=
31.26+14 = 32.2+10= 2.65+18=
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Was ist die richtige Lsung? (plus Zahlen bis 20) | ANTWORTEN * KK

Plusrechnen

7 BF+3= 60 5 73+20= 93 o 84+15= 99
030+20= 50 4 5+16= 21 , 3+4= T
3.23+10= 33 4 21+3= 24 5 49+1= 50
6. 45+8= 953 ; 79+18= 97 s 90+ 15= 105
9 68+15= 83 0 41+9= 50 , 59+Q0= 059
2 82+9= 91 ;5 40+12= 52 ,,37+16= 53
s 56+9= 65 , 36+1= 37 ,;32+19= 51
s 68+5= 73 5 82+1= 83 33+11= 44
5126+ 14= 40 5 2+10= 12 35 65+18= 83
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